

KANYA MAHA VIDYALAYA

(Autonomous)

(AFFILIATED TO GURU NANAK DEV UNIVERSITY)

Re-accredited 'A' grade by NAAC-UGC Designated College with Potential for Excellence Star College Status By DBT (Govt. of India) & FIST - DST Supported Institution DDU Kaushal Kendra by UGC, MHRD (Govt. of India)



DETAILED GRADE CARD

ਬੈਚਲਰ ਆਫ ਵੋਕੇਸ਼ਨ (ਰਿਟੇਲ ਮੈਨੇਜਮੈਂਟ), ਸਮੈਸਟਰ-ਪਹਿਲਾ, ਦਸੰਬਰ-2019 Bachelor of Vocation (Retail Management), Semester - I, December-2019

Roll No.

: 19111800023

Regn. No.

: 2019.MJ /A.724

: ਕੁਲਜੋਤ ਕੌਰ

Name

: KULJOT KAUR

ਪਿਤਾ ਦਾ ਨਾਮ: ਰੇਵਲ ਸਿੰਘ

Father's Name : RAWEL SINGH

ਮਾਤਾ ਦਾ ਨਾਮ : ਪਰਮਜੀਤ ਕੌਰ

Mother's Name: PARAMJIT KAUR

Sr. No.	Course Code	Course Title	Credits Registered	Grade Points	Credit Points	Grade
1	BVRL-1421	PUNJABI (COMPULSORY)	2	5	10	C
2	BVRL-1102	COMMUNICATION SKILLS IN ENGLISH	4	5.4	21.6	В
3	BVRL-1323	FUNDAMENTALS OF MANAGEMENT	4	5.4	21.6	В
4	BVRL-1324	BASICS OF RETAIL MANAGEMENT	4	4.6	18.4	C
5	BVRL-1125	COMPUTER FUNDAMENTALS-I	2	4.8	9.6	C
6	BVRL-1126	COMPUTER APPLICATIONS IN RETAIL	4	5.8	23.2	В
7	BVRP-1127	LAB ON COMPUTER FUNDAMENTALS-I (MS OFFICE)	2	8.4	16.8	A+
8	BVRP-1328	LAB ON RETAIL SELLING SKILLS	4	8.8	35.2	A+
9	*AECD-1161	DRUG ABUSE: PROBLEM MANAGEMENT AND PREVENTION (COMPULSORY)	2	5.8	11.6	В
10	*SECF-1492	FOUNDATION COURSE	2	6.8	13.6	B+
		Total	30.00		156.4	

Credits Earned in the Semester for SGPA: 26.00

Total Credits Earned: 30.00

*Credit of these courses have not been counted towards the SGPA of the Student

JALANDHAR October 19, 2020

Mandle Controller of Examinations

Chief Controller of Examinations



KANYA MAHA VIDYALAYA

(Autonomous)

(AFFILIATED TO GURU NANAK DEV UNIVERSITY, AMRITSAR)

Re-accredited 'A' grade by NAAC-UGC Designated College with Potential for Excellence Star College Status By DBT (Govt. of India) & FIST - DST Supported Institution DDU Kaushal Kendra by UGC, MHRD (Govt. of India)



DETAILED GRADE CARD

ਬੈਚਲਰ ਆਫ ਵੋਕੇਸ਼ਨ (ਰਿਟੇਲ ਮੈਨੇਜਮੈਂਟ), ਸਮੈਸਟਰ-ਦੂਜਾ, ਮਈ-2020 Bachelor of Vocation (Retail Management), Semester - II, May-2020

Roll No.

: 19111800023

: 2019.MJ/A.724

MG

: ਕਲਜੋਤ ਕੌਰ

Name

: KULJOT KAUR

ਪਿਤਾ ਦਾ ਨਾਮ: ਰੇਵਲ ਸਿੰਘ

Father's Name : RAWEL SINGH

ਮਾਤਾ ਦਾ ਨਾਮ : **ਪਰਮਜੀਤ ਕੌਰ**

Mother's Name: PARAMJIT KAUR

Sr. No.	Course Code	Course Title	Credits Registered	Grade Points	Credit Points	Grade
1	BVRL-2421	PUNJABI (COMPULSORY)	2	8.4	16.8	A+
2	BVRM-2102	COMMUNICATION SKILLS IN ENGLISH	4	7.6	30.4	A
3	BVRL-2323	RETAIL SHOPPER BEHAVIOUR	4	8.8	35.2	A+
4	BVRL-2324	HR IN RETAIL OPERATIONS	4	8.4	33.6	A+
5	BVRL-2325	MANAGERIAL ECONOMICS	2	8.4	16.8	A+
6	BVRM-2126	COMPUTER FUNDAMENTALS-II(ADVANCE EXCEL)	4	7.11	28.44	A
7	BVRI-2327	TRAINING PROJECT	6	9	54	A+
8	*AECD-2161	DRUG ABUSE: PROBLEM, MANAGEMENT AND PREVENTION (COMPULSORY)	2			A+
9	*SECM-2502	MORAL EDUCATION	2			0
		Total	30,00		215.24	

Credits Registered for SGPA: 26.00

Credits Earned in the Semester for SGPA: 26.00

SGPA: 7.15 with 'A' Grade Total Credits Earned: 30.00

Note: This result has been declared as per UGC Guidelines vide Letter No. D.O.No.F.1-1/2020(Secy) dated 29 April, 2020 and K.M.V. Governing Body Meeting held on 24 June, 2020 in view of current situation due to COVID-19 Pandemic.

*Credit of these courses have not been counted towards the SGPA of the Student

JALANDHAR November 24, 2020

Mondle Controller of Examinations

Chief Controller of Examinations



KANYA MAHA VIDYALAYA

(Autonomous)

(AFFILIATED TO GURU NANAK DEV UNIVERSITY)

Re-accredited 'A' grade by NAAC-UGC Designated College with Potential for Excellence Star College Status By DBT (Govt. of India) & FIST - DST Supported Institution DDU Kaushal Kendra by UGC, MHRD (Govt. of India)



DETAILED GRADE CARD

ਬੈਚਲਰ ਆਫ ਵੱਕੇਸ਼ਨ (ਰਿਟੇਲ ਮੈਨੇਜਮੈਂਟ), ਸਮੈਸਟਰ-ਤੀਜਾ, ਦਸੰਬਰ-2020 Bachelor of Vocation (Retail Management), Semester - III, December-2020

Roll No.

: 19111800023

Regn. No.

: 2019.MJ /A.724

ਨਾਮ

: ਕਲਜੋਤ ਕੌਰ

Name

: KULJOT KAUR

ਪਿਤਾ ਦਾ ਨਾਮ: ਰੇਵਲ ਸਿੰਘ

Father's Name : RAWEL SINGH

ਮਾਤਾ ਦਾ ਨਾਮ : ਪਰਮਜੀਤ ਕੌਰ

Mother's Name: PARAMJIT KAUR

Sr. No.	Course Code	Course Title	Credits Registered	Grade Points	Credit Points	Grade
1	BVRL-3321	PRINCIPLES OF ACCOUNTING	4	6.6	26.4	B+
2	BVRL-3322	E-COMMERCE	4	7.2	28.8	A
3	BVRL-3323	STORE LAYOUT AND DESIGN	4	7	28	B+
4	BVRL-3324	RETAIL LOGISTICS MANAGEMENT	4	6.8	27.2	B+
5	BVRL-3325	HEALTH AND SAFETY MANAGEMENT ISSUES IN RETAIL	2	7.6	15.2	A
6	BVRM-3126	COMPUTER APPLICATIONS-TALLY AND INTERNET	4	7.07	28.28	A
7	BVRP-3327	STORE OPERATIONS-I	6	8.8	52.8	A+
8	*SECG-3532	GENDER SENSITIZATION	2	8	16	A
				11 61		
		Total	30.00		206.68	

Credits Registered for SGPA: 28.00

Credits Earned in the Semester for SGPA: 28.00

Total Credits Earned: 30.00

Result : Passed

*Credit of these courses have not been counted towards the SGPA of the Student

JALANDHAR June 23, 2021

Monde Controller of Examinations

Chief Controller of Examinations



KANYA MAHA VIDYALAYA

(Autonomous)

(AFFILIATED TO GURU NANAK DEV UNIVERSITY, AMRITSAR)

Re-accredited 'A' grade by NAAC-UGC Designated College with Potential for Excellence Star College Status By DBT (Govt. of India) & FIST - DST Supported Institution DDU Kaushal Kendra by UGC, MHRD (Govt. of India)



DETAILED GRADE CARD

ਬੈਚਲਰ ਆਫ ਵੋਕੇਸ਼ਨ (ਰਿਟੇਲ ਮੈਨੇਜਮੈਂਟ), ਸਮੈਸਟਰ-ਚੌਥਾ, ਮਈ-2021 Bachelor of Vocation (Retail Management), Semester - IV, May-2021

: 19111800023

Regn. No.

: 2019.MJ/A.724

: ਕੁਲਜੋਤ ਕੌਰ

Name

: KULJOT KAUR

ਪਿਤਾ ਦਾ ਨਾਮ: ਰੇਵਲ ਸਿੰਘ

Father's Name : RAWEL SINGH

		DETAIL OF CREDITS AND GRADES				
Sr. No.	Course Code	Course Title	Credits Registered	Grade Points	Credit Points	Grade
1	BVRL-4321	SUPPLY CHAIN MANAGEMENT	4	7.2	28.8	A
2	BVRL-4322	MERCHANDISING MANAGEMENT	4	6.6	26.4	B+
3	BVRL-4323	ENTREPRENEURSHIP DEVELOPMENT	4	6	24	В
4	BVRL-4324	BUSINESS ETHICS	2	5.6	11.2	В
5	BVRM-4325	LAB ON E-RETAILING AND RETAIL INFORMATION SYSTEM	4	7.3	29.2	A
6	BVRP-4326	STORE OPERATIONS-II	6	9	54	A+
7	*AECE-4221	ENVIRONMENTAL STUDIES (COMPULSORY)	4		i de	A
8	*SECS-4522	SOCIAL OUTREACH	2			A+
	V 57					
				W. 1		
		Total	30.00		173.6	

Credits Registered for SGPA: 24.00

Credits Earned in the Semester for SGPA: 24.00

SGPA: 7.23 with 'A' Grade Total Credits Earned: 30.00

Result : Passed

*Credit of these courses have not been counted towards the SGPA of the Student

JALANDHAR October 16, 2021

Mondle Controller of Examinations

Chief Controller of Examinations



KANYA MAHA VIDYALAYA

(Autonomous)

(AFFILIATED TO GURU NANAK DEV UNIVERSITY, AMRITSAR)

Re-accredited 'A' grade by NAAC-UGC Designated College with Potential for Excellence Star College Status By DBT (Govt. of India) & FIST - DST Supported Institution DDU Kaushal Kendra by UGC, MHRD (Govt. of India)



DETAILED GRADE CARD

ਬੈਚਲਰ ਆਫ ਵੋਕੇਸ਼ਨ (ਰਿਟੇਲ ਮੈਨੇਜਮੈਂਟ), ਸਮੈਸਟਰ-ਪੰਜਵਾਂ, ਦਸੰਬਰ-2021 Bachelor of Vocation (Retail Management), Semester - V, December-2021

: 19111800023 Roll No.

: 2019.MJ/A.724 Regn. No.

: ਕੁਲਜੋਤ ਕੌਰ HTG

: KULJOT KAUR Name

ਪਿਤਾ ਦਾ ਨਾਮ: ਰੇਵਲ ਸਿੰਘ

Father's Name : RAWEL SINGH

ਮਾਤਾ ਦਾ ਨਾਮ : ਪਰਮਜੀਤ ਕੌਰ

Mother's Name: PARAMJIT KAUR

Sr. No.	Course Code	Course Title	Credits Registered	Grade Points	Credit Points	Grade
		PERSONALITY AND SOFT SKILLS DEVELOPMENT	4	6.6	26.4	B+
1	BVRL-5321	PERSONALITY AND SOFT SKILLS DEVELOTING				
2	BVRL-5322	PROJECT MANAGEMENT	4	7	28	B+
3	BVRL-5323	ADVERTISING AND SALES MANAGEMENT	4	7	28	B+
4	BVRL-5324	CUSTOMER RELATIONSHIP MANAGEMENT	4	7	28	B+
5	BVRL-5325	BUSINESS LAWS	2	6.2	12.4	B+
6	BVRP-5326	FUNDAMENTALS OF VISUAL MERCHANDISING-I	4	9.2	36.8	0
7	BVRD-5327	CAPSTONE PROJECT	6	8.3	49.8	A+
8	*SECI-5541	INNOVATION, ENTREPRENEURSHIP AND CREATIVE THINKING	2			A+
		Total	30.00		209.4	

Credits Registered for SGPA: 28.00 Credits Earned in the Semester for SGPA: 28.00

SGPA: 7.48 with 'A' Grade Total Credits Earned: 30.00

*Credit of these courses have not been counted towards the SGPA of the Student

JALANDHAR February 2, 2022

Mandle Controller of Examinations

Chief Controller of Examinations



KANYA MAHA VIDYALAYA

(Autonomous)

(AFFILIATED TO GURU NANAK DEV UNIVERSITY, AMRITSAR)

Re-accredited 'A' grade by NAAC-UGC Designated College with Potential for Excellence Star College Status By DBT (Govt. of India) & FIST - DST Supported Institution DDU Kaushal Kendra by UGC, MHRD (Govt. of India)



DETAILED GRADE CARD

ਬੈਚਲਰ ਆਫ ਵੋਕੇਸ਼ਨ (ਰਿਟੇਲ ਮੈਨੇਜਮੈਂਟ), ਸਮੈਸਟਰ-ਛੇਵਾਂ, ਮਈ-2022 Bachelor of Vocation (Retail Management), Semester - VI, May-2022

Roll No.

: 19111800023

Regn. No.

: 2019.MJ /A.724

: ਕੁਲਜੋਤ ਕੌਰ

Name

: KULJOT KAUR

ਪਿਤਾ ਦਾ ਨਾਮ: ਰੇਵਲ ਸਿੰਘ

Father's Name : RAWEL SINGH

ਮਾਤਾ ਦਾ ਨਾਮ: ਪਰਮਜੀਤ ਕੌਰ

Mother's Name: PARAMJIT KAUR

	- 271 TILT	DETAIL OF CREDITS AND GRADES	5			
Sr. No.	Course Code	Course Title	Credits Registered	Grade Points	Credit Points	Grade
1	BVRL-6321	RETAIL OPERATIONS MANAGEMENT	4	7	28	B+
2	BVRL-6322	MARKETING MANAGEMENT	4	6.8	27.2	B+
3	BVRL-6323	PRODUCTIONS AND OPERATIONS MANAGEMENT	4	5.8	23.2	В
4	BVRL-6324	FINANCIAL MANAGEMENT	4	5	20	С
5	BVRL-6325	ELEMENTS OF SALESMANSHIP	4	7.6	30.4	A
6	BVRP-6326	FUNDAMENTALS OF VISUAL MERCHANDISING-II	4	8	32	A
7	BVRI-6327	TRAINING PROJECT	6	9.1	54.6	0
×						
		Total	30.00		215.4	

Credits Registered for SGPA: 30.00

Credits Earned in the Semester for SGPA: 30.00

SGPA: 7.18 with 'A' Grade

CGPA: 7.08 with 'A' Grade

Total Credits Earned/ Registered in all semesters: 180.00/180.00

Result : Passed

JALANDHAR August 16, 2022

Mondin Controller of Examinations

Chief Controller of Examinations



ਗ੍ਰੀ ਨਾਲਕੇ ਦੇਵ ਯੂਨੀਵਰਸਿਟੀ





Regd No.: 2019.MJ /A.724

Roll No.: 19111800023

	ਮਾਣਿਤ ਕੀਤਾ ਜਾਂਦਾ ਹੈ ਕਿ	ਕੁਲਜੋਤ ਕੋਰ	ਪੁੱਤਰ/ਪੁੱਤਰੀ ਸ੍ਰੀ	ਰੇਵਲ ਸਿੰਘ
and the second second	ਪਰਮਜੀਤ ਕੋਰ	_ 8	ਕੰਨਿਆਂ ਮਹਾਂਵਿਦਿਆਲਾ, ਜਲੰਧਰ (ਆ	ਟੋਨੋਮਸ ਕਾਨਜ)
	ਸ ਦਾ ਅਧਿਐਨ ਕਰਨ ਉਪਰੰਤ ਰ ਆਵ ਵੋਕੇਸ਼ਨ (ਰਿਟੇਲ ਮੈਨੇਜਮੈਂਟ)	ਮਈ , <u>2022</u> ਵਿਚ ਹੋਈ ਦੀ ਡਿਗਰੀ ਪ੍ਰਾਪਤ ਕੀਤੀ ਹੈ	ਲੋਡੀਂਦੀ ਪ੍ਰੀਖਿਆ 10.00 ਵਿਚੋਂ _7.08	_ ਕੋਮੁਲੇਟਿਵ ਗ੍ਰੇਡ ਪੋਇੰਟ ਐਵਰੇਜ, ਨਾਲ ਪਾਸ ਕਰਕੇ
		Guru Nanak	Dev University	
	Bachelor o	of Vocation (Retail ?	Management) (Semes	ster System)
	This is to certify that	KULJOT KAUR	son/daughter of Mr.	RAWEL SINGH
and Iffrs	PARAMJIT KAUR		YA MAHAVIDYALAYA. JALANDHA	
having pursu	ed the prescribed course of st	udy and passed the requisite	Examination, held inMay	2022 has been admitted to the
Degree of Ba	chelor of Vocation (Retail M	anagement) and has obtain	ed Cumulative Grade Point Avera	age of 7.08 out of 10.00

ਯੂਨੀਵਰਸਿਟੀ ਸੀਲ ਅਧੀਨ ਪੁਮਾਣਿਤ ਕੀਤੀ ਗਈ। Given under the seal of the University.

Palminda King! ਪ੍ਰੋਫੈਸਰ ਇੰਚਾਰਜ਼ (ਪ੍ਰੀਖਿਆਵਾਂ) Professor Incharge (Examinations)

AMRITSAR: August 16, 2022

ਰਜਿਸਟਰਾਰ Registrar

ਉਪ ਕਲਪਤੀ Vice Chancellor

व्रहथडी Chancellor